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hwjwnbp hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud ok “X”/
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«Lwwnwh Swpd»

umne X
Cunpjwé
dwutwlhg
Uwult:lwghg:jllph Uwutiwygh /punpyws Uwutwygh 'l:lunwgwpqlub
qme:l I?n wiuitinudp Jwutiulygh /wnwt U.<q< hw wy/
nupp hwdwp ok g » hwq. np
“X”/
«Lwwwih dwpd»
1 Ume X 28,815
Quithwpwdhu 32:
Qudwu wnwplw & hwunhuwund' Yndbhu uwwnphnwp pbugnwn
<pwybph <pwybph
Uwutilgh wwhwugubphu wwhwugubphu
¢/c whuwhnug hwiwywwmwuluwunn | shwdwywunwupuwung | Luhwdwwywunwujuwuniejwu
n
hwjwnbp hwjwnbp hwdwnnun ufuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud ugb “X”/
1 «Lwwnwih dSwpd» X
umne
«Updwpdwghw»
2 PPL X
Cunpwéd
dwutiwlyhg
Uwult:lwghg:lllph Uwutiwygh /punngwd Uwutwygh lt:lhnwgwpqwb
il whiuitinuip duadbwloh | g U, hug, npuid/
ntepp hwdwp ok g » hwq. np
“XY’/
«U.rlbeJ[]ljUJghw»
1 . X 0,312
«Lwwwh dwpd»
2 Ume 0,315
Quithwpwdhu 34:
Qudwu wnwplw § hwunhuwund' 2inpnwhpwdhpt :
Uwutwygh <pwybph <pwybph
ULuhwdwwywwnwufuwunipjwu
</¢|  wujwunuip wwhwlgubpht wwhwhgubpht - dwnn‘:‘ hllwm':l‘qnm"'::‘ "
hwiwywwwuluwunn | shwdwwywwnwuluwng
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hwjwnbp

/hwdwwwwnwutuwubnt
nbwpnud gk “X”/

hwjwnbp

nbwpnud ok “X”/

/shwdwwwunwufuwubint

«Lwwnwih Swnpd»

umne X
«Upﬂ)wndwghw»
2 PPL X
Cunpjws
dwutiwlyhg
Uwutwlyhgub Uwutiw wnwowplwé
qplurlll:ggwdnh Uwutiwlgh /punpyuid llgt;hh guiny
nbnbpp wijuitinudp Jwutwlgh /g UCE, hug. ppwd/
hwdwp ugb|
“x"/
«Lwwwih dwpd»
1 Ume X 8,336
«Llpfbwndwghw»
2 oap 11,34
Quithwpwdhu 34:
Qudwu wnwplw £ hwunhuwund' Ywwndwiunnp hwundy:
<pwybph <pwybiph
Uwutwlgh wwhwugubphu wwhwugubpht
¢/c A hwiwywwmwuluwunn | shwdwywwnwupluwung | Luhwdwwywunwujuwuniejwu
i o hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniLu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwubnt

nbwpnud ugb “X”/

nbwpnud ugby “X”/

«Lwwnwih dwpd»

umne X
«Upﬂawndwghw»
2 PrL X
Lunpjwé
dwutiwlhg
Uwuhwghghllph Uwutiwygh /punnuws Uwutiwygh u;lnwgwpqwé
qpwnbgpw gh
nbink wijuiinudp Jwubwloh | ) g UCE, b o/
ntepp hwdwp ok wnwug » hwq. npw
“XH/
«U.[’lbeJ[]leUghUJ»
1 o X 0,32
«Lwwwh dwpd»
2 Ume 0,354
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Quithwpwdhu 37:

Qudwu wnwplw & hwunhuwund' byhub$phu:

<puwybph <pwybph
Uwutiwlgh wwhwugubphu wwhwugubkphu
¢/ whwtinudp hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 «Lwwwih Swpd» X
umne
Cunpjwéd
dwutwyhg
Uwutwlyhgub Uwutw wnwowplwd
qurlll:g:tuéph U wutwlgh /punpqwd ugt:}hb guiny
wbnbtpp wijuitnudp Jwutiulygh /wnwiug UKL, hwq. npud/
hwdwp ugb|
“x"/
«Lwwnwih dSwpd»
1 Ume X 1,32
Qwithwpwdhtu 38:
Qudwu wnwplw § hwunhuwund' bpnuypndbiu:
<puwybph <puwybph
Uwutilgh wwhwugubphu wwhwugubpht
¢/c whuwhnug hwiwywwmwuluwunn | shwdwywwnwupluwung | Luhwdwwywunwujuwuniejwu
o hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud uob “X”/
1 «Lwwnwih dwpd» X
umne
«Upﬂawndwghuj»
2 PrL X
Lunpjwé
dwutiwlhg
Uwutwyhgub Uwutiw wnwownljwé
quqgggw 6"" U wutwlgh /punnywsd ugt;hu guinl
nbinbpp wijuitnudp Jwutwlgh | - g U€E, huwg. npwd/
hwdwp ugk)
HXH/
«Updwnpdwghw»
1 o X 1,01
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9 «bluU’]lGJl_[f;S)l.lde» 1,06
Quithwpwdhu 40:
Yudwu wnwplw & hwunhuwund' Unnpuunwunpu:
<pwybipp <pwybiph
Uwutiwygh wwhwugubtphtu wwhwugubtphtu
¢/ whiywinid hwdwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwujuwunipjwu
e hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwwufuwubnt | shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 «Lwwnwih dwnpd» X
ume
Cunpjwéd
dwutiwlyhg
Uwul'(:lwll:hg:lllph Uwutiwygh /punpuws Uwutwlygh ll:;‘nwgwplqwb
qpuintgn wuywuntdp dwutwlygh 4
wmbnbkpp hwidwin gk /wnwug UL, hwq. npwd/
uxn/
1 «bUJmlLJJJr[[r]]D-ﬂ)qulj» X 92’22
Quithwpwdhu 42:
Qudwu wnwplw & hwunhuwund' hgnunpphnh nhupunpwun:
<pwybph <pwybiph
Uwutiwygh wwhwugubtphtu wwhwugubkphtu
¢/ whwitind hwiwywwmwuluwunn | shwdwywwnwupuwung | Luhwdwywunwujuwuniejwu
e hwjwnbip hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwibn

nbwpnud ok “X”/

nbwpnid uok “X”/

«Lwwwih Swpd»

ume X
Lunpjwé
dwutiwlhg
nbinbpp wijwnuip Jwutiwlgh g UL, hug, npwd/
hwdwp gk ’ ’
HX”/
«Lwwnwh dSwnpd»
1 UmE X 26,10
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Quithwpwdhu 43:

Qudwu wnwplw & hwunhuwund' Phunwypnn :

<pwybph <pwybph
Uwutiwlgh wwhwugubphu wwhwugubkphu
¢/ s ?j hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwufuwunipjwu
wijuwnuip hwyinbp hwyinbp hwdwnnun ujwpwqpnyentt
/hwdwwywwnwufuwubnt | shwdwwywnwufuwubnt
W
nbwpnud gk “X”/ nbwpnud gk “X”/
1 «Lwwwih Swpd» X
umne
«Updwpdwghw»
2 PPL X
Cunpjwéd
dwutiwlyhg
U wutiwyhgut Uwutiw wnwowplwé
quqgggm"h U wutiwlgh /putnnywsd ”9'(‘“1“ guinl
nbnbpp wijuitinudp dwubwloh | g UCE, huq. ppud/
hwdwp ugb|
“X?)/
«Lwwnwih dwpd»
1 Ume X 14,82
«Upﬂ)wndwghw»
2 oap 44,91
Quithwpwdhu 44:
Qudwu wnwplw £ hwunhuwund' hunwwwdhn
<pwybph <pwybiph
Uwutiwlgh wwhwugubtphtu wwhwugubkphtu
¢/ s ?S hwiwywwmwuluwunn | shwdwywwnwupuwung | Luhwdwywunwujuwuniejwu
wijwnuip hwjwnbp hwjwnbp hwdwnnun ujwpwqpnyentu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwibn
W

nbwpnud ok “X”/

nbwpnid uob “X”/

«Lwwnwih dwpd»

umne X
Cunpjwé
dwutiwyhg
Uwul'(:llughg:‘llph Uwutiwygh /punpuws Uwuhwhg[;ll:lunwgwpqwb
clptnl:l l?n wtijwtinudp Uwutulgh /wnwug UKL, hwq. npud/
1o hwdwp ugk) ’ :
“X”/
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«Lwwwih dwpd»
1 Ume X 89,514
Quithwpwdhu 45:
Yudwtu wnwplw £ hwunhuwund' Ughppndhght
<pwybipp <pwybiph
Uwutiwygh wwhwugubtphtu wwhwugubtphtu
¢/ whiywinid hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwufjuwunipjwu
e hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 «Lwwnwih dwnpd» X
ume
«Urlfbl.l.lpljUJghuJ»
2 PPL X
Cunpjws
dwutiwlyhg
Uwut ub Uwut &
wu wll.:hg th U wutilgh /punpywsd wutwygh whnwgwpqw
qpwntgpw qh
inbnk witiquitinudp Hwubuiligh | /o g USE, huig. npuwd/
ntepp hwdwp tgh g » hwq. np
uxn/
«Upﬂ)wndwghw»
1 oap X 4,59
«Lwwnwih dwpd»
2 Ume 5,94555
Quithwpwdhu 46:
Yudwu wnwplw & hwunhuwund" Udhnnwpnu
<pwybph <pwybiph
Uwutiulgh wwhwugubkphtu wwhwugubkpht
¢/ wiuwhnug hwiwywwmwuluwunn | shwdwywwnwupuwung | Luhwdwwywunwujuwuniejwu
n hwjwnbp hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | /shwdwywnwufuwubnt

nbwpnud ugb “X”/

nbwpnud uob “X”/

«Lwwnwih dwpd»

umne X
Uz:lt:llgggzl;ph Uwutiwygh lrﬁu'(::::‘t[ll:;; Uwuhwqg[;;:;lnwgwnqwé
wnbintpp wlijwnudp /punpwd | /wnwug UL, hwq. npwud/
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dwutwygh
hwdwp ugk|
“X”/
«Lwwwih dwpd»
1 UmE X 38,40
Quithwpwdhu 47:
Qudwu wnwplw & hwunhuwund' Yinwhnngnpby
<pwytiph <pwybiph
Uwutilgh wwhwugubphu wwhwugubphu
¢/ udwh ?i hwiwywwmwuluwunn | shwdwywwnwupuwung | Luhwdwwywunwupjuwunyejwu
whwtnuip hwjwnbp hwjwnbp hwdwnnun ufuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
W
nbwpnud ok “X”/ nbwpnud uob “X”/
1 «Lwwnwih dwnpd» X
umne
Cunpdwsd
dwutwyhg
y
Uwuhwll:hghliph Uwutiwygh /punnyws Uwutiwygh u;‘nwgwpqw
qruintgnw wujwunid dwutwlgh ah
wmbnbkpp e 9 /wnwiug UKL, hwq. npud/
hwdwp ugb|
uxn/
«Lwwnwih dwpd»
1 UmE X 81,90
Quithwpwdhu 48:
Qudwu wnwplw § hwunhuwund' Ywighnd, yhinwdhu 3
n n g
<pwytiph <pwytph
Uwutiulgh wwhwugubkphtu wwhwugubkpht
¢/ iy ?S hwiwywwmwuluwunn | shwdwywwnwupuwung | Luhwdwwywunwujuwuniejwu
wijuiunuip hwjwnbip hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
W

nbwpnud ugb “X”/

nbwpnud uob “X”/

«Lwwwih Swpd»

umne X
Lunpjwé
Uz:lt:llgggzl;ph Uwutiwlgh l;;:::;:ﬂ? Uwuhwqg[;;:;lnwgwnqwé
wmbnbkpp wijwnuip dwutwlygh | /wnwug ULL, hwq. npwd/
hwdwp ugh)
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“X”/

«Lwwnwh dSwpd»

umpe X 36,90
Quwithwpwdhu 49:
Yudwu wnwplw b hwunhuwund' Hth$buhhnpwdhu
<puwybph <pwybph
Uwutwlgh wwhwugubphu wwhwugubkphu
¢/ whwtinudp hwdwywwwuppwunn | shwiwywunwufuwung | Wuhwdwwywwnwufuwunipjwu
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypnLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
nbwpnud uob “X”/ nbwpnud uoby “X”/
1 «Lwwnwih dSwpd» X
umne
«Updwpdwghw»
2 PPrL X
Cunpwéd
dwutwyhg
Uwul'(:lwll:hg:lliph Uwutiwygh /punnyws Uwutwlygh u;‘nwgwpqwb
qruintgn wuywunidp dwutwlgh ah
wmbnbkpp hwidwin tob /wnwiug UKL, hwq. npud/
“X?)/
«U.r]beJ[‘IljUJghu.l»
1 . X 0,219
«Lwwnwh dSwpd»
2 Ume 0,2205
Quithwpwdhu 53:
Qudwu wnwplw & hwunhuwund' Udinnhwhu, wbphunnwppy
<puwybph <pwybph
Uwutiwlgh wwhwugubtphtu wwhwugubkphtu
¢/ wbt{whm?in hwiwywwmwuluwunn | shwdwywwnwupuwung | Luhwdwywunwujuwuniejwu
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwibn
nbwpnud gk “X”/ nbwpnud ok “X”/
1 «Lwwwih dSwpd» X
umne
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Lunpjwé

dwutiwlyhg
Uz:lt:ll:ggzllph Uwutiwlgh /punnywd Uwuhwqg[;;:xhnwgwpqwé
wbnbtpp wijuiinudp Jwutuwgh /wnwiug UKL, hwq. npud/

hwdwp ugk) ’ ’
“X”/
«Lwwnwh dSwnpd»
1 umpe X 49,047
Qwihwpwdhu 54:

Qudwu wnwplw & hwunhuwund® Ugbnhuwihghiwepent, dwqubghnwh hhnpopuhn

<pwybph <pwybph
Uwutwlgh wwhwugubphu wwhwugubphu
¢/ g 'Um?i hwdwywwnwuppwunn | shwiwywwnwufuwung | Luhwdwywwnwupuwunipjwu
it o hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniLu
/hwdwwywwnwufuwubnt | /shwdwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 «Lwwnwih dSwpd» X
umne
«Urlfbl.l.lpljUJghuJ»
2 PPrL X
Cunpwéd
dwutwyhg
Uwuhwll:hghliph Uwutiwygh /punnyws Uwutiwygh u;‘nwgwpqwb
qpwnbgpw qh
inbnk itiuitinudp Hwubwlgh 1 g UCE, huig, npuw/
nepp hwdwp ok g » hwq. np
“x"/
«U.[]fl)UJrILjLUghUJ»
1 . X 6,24
«Lwwwh dwpd»
2 Ume 12,186
Quithwpwdhu 55:
Qudwu wnwplw § hwunhuwund' Ubpnunpbpuwn
<puwybph <pwybph
Uwutiwygh wwhwugubtphtu wwhwugubkphtu
¢/ whwitind hwiwywwnwufluwunn | shwdwywwnwupuwung | Luhwdwywunwujuwuniejwu
o hwjwnbp hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud ok “X”/
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«Lwwwih Swpd»

umne X
Cunpjwé
dwutwlhg
Uwutwlyhgutiph Uwutiwygh /punpyws Uwutwlgh wnwowpywé
qpuwntignwd wujwunid dwutwlgh aht
wbnbtpp e 9 /wnwiug UKL, hwq. npud/
hwdwp ugb|
“X”/
«Lwwnwh dwpd»
1 Ume X 16,80
Quithwpwdhu 56:
Qudwu wnwplw & hwunhuwund' Ubphwyptnuhgninu
<pwybph <pwybph
wwhwugubphu wwhwugubphu
Uwutwygh
¢/c wiwhnudp hwiwywwmwuluwunn | shwdwywunwupuwung | Luhwdwwywunwujuwuniejwu
hwjwnbp hwjwnbp hwdwnnun ufuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud ugby “X”/
1 «Lwwnwih dSwpd» X
umne
Cunpwéd
dwutwyhg
Uwutwlyhgutiph Uwutiwygh /punnyws Uwutwlygh wnwowpywéd
qpuwnbigpuws ujwuney dwutwlygh aht
wmbnbkpp it e 9 /wnwiug UKL, hwq. npud/
hwdwp ugb|
“x"/
«Lwwnwih dwpd»
1 Ume X 27,60
Quithwpwdhu 57:
Qudwu wnwplw & hwunhuwund" Mephunnuwnpi
<pwybph <pwybiph
wwhwugubphu wwhwugubpht
Uwutwlygh
¢/ whwtinudp hwiwwywwmwuluwunn | shwdwywwnwupluwung | Luhwdwwywunwujuwuniejwu
hwjwnbp hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubint

nGwpnid ugk “X”/

nbwpnid ugk “X”/

«Lwwnwih Swnpd»
umne

X
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Cunpjws
dwutiwlyhg
Uwutwlyhgubph Uwutiwygh /punnywd Vwutwlygh wnwowpyws
qpwnbigpus whywunud Jwubiwlgh ahu
wnbintpp L 9 /wnwug UKL, hwq. npud/
hwdwp ugh)
“X”/
«Lwwnwh dSwpd»
1 umpe X 18,4125
Quwithwpwdhu 58:
Qudwu wnwplw § hwunhuwund' Unnpjwuwnwnpu
<pwybph <pwybiph
Uwul wwhwugubtpht wwhwugubtphu
wutwgh hwdwywwnwuppwunn | shwiwywwnwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunwdp hwiinb h b huwd u
junkip wjwnbp wdwnnwn tfwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 «Lwwnwih dSwpd» X
umne
Cunpjws
dwutiwlyhg
Uwutiwyhgubph Uwutiwygh /punngwd Uwutwlygh wnwowpyws
qpwnbigpus wujwunid dwutwygh aht
nbnbpp L 9" 1 /wnwug UL, hwq. npud/
hwdwp Uk
Hx"/
«Lwwnwh dSwpd»
1 Ume X 12,00
Quithwpwdhu 59:
Qudwu wnwplw § hwunhuwund' Phunwpning
<pwybph <pwybiph
Uwul wwhwugubtphtu wwhwugubkphtu
wutwlgh hwiwywwmwuluwunn | shwdwywwnwupuwung | Luhwdwywunwujuwuniejwu
</< wuyjwunwdip hwiinb h b huwd u
jnkip wjwnbp wdwnnn tYwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt

nbwpnud gk “X”/

nbwpnud ok “X”/

«Lwwnwih Swpd»
ume

X
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Lunpjwé
dwutiwlyhg
Uwutwlyhgub Uwutw wnwowplwéd
qplurlll:ggwdnh Uwutiwlgh /punpyuid llg';hh guiny
knk wuyjwunwdp dwutiwlygh y g UCZ. h /
wnGntpp hwdwip ok wnwug » hwq. npw
HX”/
«Lwwnwh dSwnpd»
1 Ume X 15,80
Qwihwpwdhu 60:
Yudwu wnwplw £ hwunhuwund' Uyhpnunjwyunu
<pwybph <pwybph
Uwul wwhwugubphu wwhwugubphu
wutwgh hwdwywwnwuppwunn | shwiwywwnwufuwung | Luhwdwywwnwupuwunipjwu
</€ wuywunudp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniLu
/hwdwwywwnwufuwubnt | /shwdwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 «Lwwnwih dSwpd» X
umne
Cunpjws
dwutwyhg
U wutwlyhgut Uwutiw wnwowplwé
qur[llilggwbnh Uwutiwlgh /punpqwd ug[:}hh guiny
knkb wuyjwuntdp dwutwygh y g UCZ. h S/
wnGntpp hwdwp ok wnwug » hwq. npw
“x"/
«Lwwnwh dSwpd»
1 Ume X 5,25
Quithwpwdhu 61:
Qudwu wnwplw & hwunhuwund" Snipnubidhn
<pwybph <pwybiph
Uwutiwlgh wwhwugubphu wwhwugubpht
9 hwiwywwmwuluwunn | shwdwywwnwupuwung | Luhwdwywunwujuwuniejwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt

nbwpnud ok “X”/

nbwpnud gk “X”/

«Lwwnwih Swnpd»

ume X
«Updwnpdwghw»
2 Sal X
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Lunpjwé
dwutiwlyhg
Uwutwlyhgubph Uwutiwlgh /punnywd Vwutwlygh wnwowpywés
qpwntgpwé qht
inbink witiduitinudp dwubwlgh ) - g UCE, huiq. npwd/
nupp hwdwip ok g » hwq. np
UX”/
«Updwnpdwghw»
1 s X 0,31
«Lwwwih dwpd»
2 Ume 0,394
Quithwpwdhu 62:
Qudwu wnwplw & hwunhuwund' Euwjwwphy, hhnpnpinpnehwahn :
<pwybph <pwybiph
wwhwugubphu wwhwugubphu
Uwutwygh
¢/c wiwhnudp hwiwywwmwuluwunn | shwdwywunwupuwung | Luhwdwwywunwujuwuniejwu
hwjwnbp hwjwnbp hwdwnnun ufuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwywnwufuwubnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
1 «Lwwnwih dSwpd» X
umne
«Up$wpdwghw»
2 PPL X
Cunpjws
dwutiwlyhg
Uwutiwyhgubph Uwutiwygh /punngwd Uwutwlygh wnwowpyws
qpunbgpué qhu
nbnb wuyjwuntdp dwutwlgh Jwnwiia USZ. h &/
ntepp hwdwp gk wnwug » hwq. npw
“X?)/
«Lwwwh dwpd»
1 Ume X 0,725
«Llnfbwpdwghw»
2 . 0,94
Qwithwpwdhu 64:
Qudwu wnwplw § hwunhuwun® Odtwpwgny
<pwybph <pwybiph
Uwutiwygh wwhwugubkphu wwhwugubkphtu Uthwiwywinwufuwinie)ut
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